

















































































Example One sided vs one sided
Let Xs Xu is of N p 1 and Ho pepo us He p flo
Find a.mg it with error a

By f tandard method we get G x xv 1 x ̅ w so

we have a m.pt with gypP x ̅ w Ho a

Ito wite a que 2 with a

qyp.PL tl a 9 kin a To za

w potza.fr So the c r.is 4s Yu x ̅spotza.tv

RandomizedTests

Example
Suppose we have a coin and we toss it 6 times Let 571Xi
where Xi 0 i toss heads

1 i toss tails
Test Ho 9 0,5 vs He 9 0,75

Wesstholomoking
for a c r C Saw with error 9 0.05 so

P S w Ho a 0,05 We have
P S w Ho Eu 0,540,56 0,5 EI a 0,05
For w 5 P S w Ho 0,50 8 0,016 0,05

w 4 P S w Ho 0,5 6 8 0,106 0,05
We consider the following rule



1 If 5 5 we reject Ho
i If 5 5 we don't reject Ho
iii If 5 5 then we keep don't reject Ho with probability 1 r
where 9 0,05 P 5 6 r P 5 5 0,05 0,016 8 0,093
r 8 35

Hence when 5 5 we run a random experiment with
probability r 3 to reject Ho and probability 1 v
to not reject Ho so that P Type I error 0,05


